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(f i)

0 − 296 291

297 − 593 637

594 − 890 1256

891 − 1187 2020

1188 − 1484 2425

1485 − 1781 2210

1782 − 2078 743

2079 − 2375 418
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� ��� 1256
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 � 
 �
 � � �� ��
 ����� ��
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 �� �

� �
� ����
594 + 890

2
= 742 � 
 �
 � $
 �� � �����
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x =
f 1x1 + · · · + f nxn

N
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������

���� �� x1, . . . , xn � ������ �
 ����
 �f 1, . . . , f n �����

	��
��� ��� �
 ����
 �
 N �� ���� 
 ���
�� 
�
 �
 �
 ����

N = f 1 + f 2 + · · · + f n�

�
 �����
� ���� 
 �
 ���
� � 
 � ��� 
�� � �����
 �
 ��

���
 ����
 �
��
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 ���� ����
�� � �������

i
���� ����

�����	�� 
����
��

���� 
����
��

(f i)
�����	�

������� (xi)

1 0 − 296 291 148

2 297 − 593 637 445

= 594 − 890 1256 742

: 891 − 1187 2020 1039

/ 1188 − 1484 2425 1336

3 1485 − 1781 2210 1633

9 1782 − 2078 743 1930

8 2079 − 2375 418 2227

x =
(

291 · 148+637 · 445+1256 · 742 + · · ·

+ 743 · 1930+418 · 2227

)

: 10 000

=
12 570 871

10 000
= 1257.1
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D���(
��
 �� ������� �
 ����
 ����
 �� 	����
���

(š = 297)�� ������ �
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�
 ����
 � 0 ���
�
 �� ���� 
 ���
 � �����
 � �����
 �

� ��� ����
� x0 = 1336�B	���� 
 �
	� 	
 ���
 ��� di


	
 �


di =
xi − x0

š
.

$ 
 �
 �� � � ��
� �
 ����� d5 = 0� � ������(
�� �

6� �
 ����� d6 = 1�� � ����
��
� �@� �
 ����� ��

d4 = −1 ����O 
 �
 ��� �� �
 �
��
� � 
�
 ���� �
 ��


 ���� ����
�
 � �����
 �� 
	� �
	� 	
 ���
 ��� ����
 �


x =
f 1d1 + f 2d2 + · · · + f ndn

N
· š + x0.

1�
�
 � � �
 ���

 �
 �
� ���
 	
 � 
 � ��� 
�� 
 di �f idi�

i
���� ����

�����	�� 
����
��

���� 
����
��

(f i)
�����	�

������� (xi)
di f idi

1 0 − 296 291 148 −4 −1164

2 297 − 593 637 445 −3 −1911

= 594 − 890 1256 742 −2 −2512

: 891 − 1187 2020 1039 −1 −2020

/ 1188 − 1484 2425 1336 0 0

3 1485 − 1781 2210 1633 1 2210

9 1782 − 2078 743 1930 2 1486

8 2079 − 2375 418 2227 3 1254

'��
�� �� � 	� 	������
���� ���� 
� f idi�� 
������ �

N = 10 000� � 
� �
��� � 
 ������
� �
 ����
 297 �

�
�
 �� 	������
��x0 = 1336 �� �� 
� ���
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 �� x = 1257.1� 1
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��B ��	
 ������ ��
 ��	�
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��
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�
 ��
 �
 � �
 ���� �
���
 �� � 
�
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 �
 � 
 ���

�������
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 � �
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 ��
 �
� � 
�
 ���� % 
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�
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 �
 � 
 ����������

�
 �
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 ��	���

����	��
��
 � � 
���� 
 ��(
��
 �� � ����
 �� 
�
 �
 �

�
��
 �� ��� ��
 ��	�
 ���
 ��	�
 ����	��
��
 0.5�

B � 
�� ���� 
 �
 ���
� �	
 � 
 � ��� 
�� 
 # � ��� 
��
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����� ��
 ��

 �
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 ��	��� ����	��
��
 � �	
������
� ����(
�� �
 ����

�
 ��������
 �
 ��

291 + 637 + 1256

10 000
=

2184

10 000
= 0.2184.

i
���� ����

�����	�� 
����
��

���� 
����
��

(f i)

�����	�

������� (xi)

���
��	� ���	�
�

�������

����
����	�

��
� ������	
���

1 0 − 296 291 148 −0.5 − 296.5 0.0291

2 297 − 593 637 445 296.5 − 593.5 0.0928

3 594 − 890 1256 742 593.5 − 890.5 0.2184

4 891 − 1187 2020 1039 890.5 − 1187.5 0.4204

5 1188 − 1484 2425 1336 1187.5 − 1484.5 0.6629

6 1485 − 1781 2210 1633 1484.5 − 1781.5 0.8839

7 1782 − 2078 743 1930 1781.5 − 2078.5 0.9582

8 2079 − 2375 418 2227 2078.5 − 2375.5 1

����� 1.
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��� ��
 ��	�
 ���
 ��	�
 ����	��
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 �
 ����
 ).

0 ��� �
�
 �� �	
 � � �
�
�
 �
�� 
� �� 
 �
� 
����
 �
�
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 ��
 � � 
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 � �
�
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�
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 � ��
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 ��
 ��
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� �
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 ��
 �����
	
�
	�

� 
	
� � ��� ���� �� (−0.5, 0)� (296.5, 0.0291)�
(593.5, 0.0928). . . (2375.5, 1)� '
 � ������ 
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 ��
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 �M �� 
�
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�
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 � �
��� � �� ��� ��
 �

��	�
 ���
 ��	�
 ����	��
��
 ����
 �
 0.5� �
 ����

��
 ���� 
 
 � � 
��� �
�
�� MD(M, 0.5)� � 
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 ��

�� �
�
�� MD �
 ��
 �� ��� ��
 ��	��� ���
 ��	��� �����
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��
 ��
�

 	
 � 
 �
 � � �
 �
 ���
 ��������
�
 � � 
 �

�
 �
�
�� T1(1187.5, 0.4204)
�T2(1484.5, 0.6629)����� ��
���
 �(
� �� �
 �
 ����� J��
 ��

����� $ 
 � � � �
 ���� � �
�

�
 �
 ��	
 ���������� ����

������ &��
 �
��
 �� 
 ����
 �

����� � �
 	

 ��
� �
�
�� T1 �

T2�

y − y1 =
y2 − y1

x2 − x1

(x − x1)

y − 0.4204 =
0.6629 − 0.4204

1484.5 − 1187.5
(x − 1187.5)

y = 8.165 · 10
−4x − 0.54919.

'
 y = 0.5 �
��	
 � 
 �
 �� 
��
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 ��(

 
 � ��


�� 
 M = 1285��
 �� � ����
 ��
 ��� � 
�
 �
 �
 �

�
�����
�����	
 ����
��� ��� �� 
 �
 �
��
��
�

����� �	
 �����
�
�
 �
��
 �� 
����
 �
 0.25���� �
 


�� �
 � � 
 ������ �
�
 ��� P8℄� �
����	
 ������ � 
�

�
 �
 � �
 �
���� 25 % � 
�
 �
 �
 � 
 ��� �������

�
 �
 ���� �� $ 
 � � �
�
�
 �
 �
 ���
 ��
 �� ���

� ��
 ��	��� ���
 ��	��� ����	��
��
 ��� � � �
�

 �


T3(890.5, 0.2184)�T1(1187.5, 0.4204)�0 � ��

������ 
 ����
 ����� � �
 	

 ��
� �� �
�
��

T3T1 . . . y = 6.8 · 10
−4x − 0.38726,
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�
�
 �
��
 �� 
����
 �
 ����
 �
 0.25 �� 
 
 � � 
���

Q1 = 937.1 ��
 �� �
����	
 �����

>
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��
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����
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 ����
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 �
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 � � 
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�
��

T2(1484.5, 0.6629) �T4(1781.5, 0.8839)� % ���

�
 ����
 � �
 	

 T2T4 ��
 ��

y = 7.44 · 10
−4x − 0.441728,
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��	
 � 
 Q3 = 1601.8��
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 ���������
 � 
 � �����
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 � "
�
 �
��� ���� ��
 ��� 6 �
 ��

���
 ����
 ��� ������
 �� ���
 �
 ����

� 
	
� ��
 �� ��� ��
 ��	��� ���
 ��	�

��� ����	��
��
 �0 ������ 
 ��
 ��
�

�
 ����
 �����	��
��� �
 ����
 ��� �
��

� ��
 �� 
 �
 ���
� ����	��
��
 �"
�
� 
������ 
 � �
�

� ���
�
 	����� � ��
 �
��� �� �
������ �����	
 �	��� ��


��
 �
��� 10 % �
 ������� � 
 � 
 �

����� 2.

&� � 
�
 �
 �
 �
 	
�
�
 	�
�
��
�
��
 	
 � 
 �
 �� �
�

��
 � ��
���
 ��
 ��

 � �	
� �
 ����
 2.35� 
 �
��

��
 ��
 ��

 ���
� �
 ����
 �� 3.05��
 ����� ��
����

��
 ��
� � �	
� �
 ����
 � �# 2.35 − 3.05� $ 
 �
 � �

��
 ��
� � �	
� �
 ����
 2.4 − 3.0� "��
���� ��
 �

��
� ����
� �
 ����
 � �# 3.05 − 3.75 ��
 �
 �
 �

���� ;�� ��
 ��	�� ���
 ��	�� ����	��
��� �� ���
� #

0.25, 0.55, 0.675, 0.85, 0.95, 1�
 � �
������� � 80

2�
 �� ���� 
 ���
�� �
� 
 ��
 ��� � 
 � 
 : �
��	
 � 
 ���

� ��
 ��	�� ����	��
���# 20, 44, 54, 68, 76, 80��
 ��

�������	��
��
 � �	
� �
 ����
 �� 20�����	��
��
 ����

�
� �
 ����
 �� 44 − 20 = 24�����	��
��
 ���(
��

�
 ����
 �� 68 − 54 = 14 ���� $ 
 ���

 ����	��
��


������
 
	
 �
#

�������

�����	���

���
��	� ���	�
�

�������
������	
���

����
����	�

������	
���

����
����	�

��
� ������	
���

2.4 − 3.0 2.35 − 3.05 20 20 0.25

3.1 − 3.7 3.05 − 3.75 24 44 0.55

3.8 − 4.4 3.75 − 4.45 10 54 0.675

4.5 − 5.1 4.45 − 5.15 14 68 0.85

5.2 − 5.8 5.15 − 5.85 8 76 0.95

5.9 − 6.5 5.85 − 6.55 4 80 1

'
 ���
 �
��
 	
 ��� � �
� ���
�
� 	��� ��
 ��
 �
��� �
��

��� (
�� 
 �
 ���
� �
� ��������� 
�� � �����
 �
 ����


�
�� ���
� ��
 ��
	
 �
#2.7, 3.4, 4.1, 4.8, 5.5, 6.2�

$�������
 
 ���� ����
�
 � �����
 ����
 �
 ��

x =
(

20 · 2.7+24 · 3.4+10 · 4.1+14 · 4.8+

+ 8 · 5.5+4 · 6.2

)

: 80

= 3.91.
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 �
��� �� 9�43������
 �

� 
 ��
 �� 
������ 
 �
�
�� �
��
 �� 
����
 �
 ����
 �

�
 0.1� $ 
 � � �
�
�
 �
 �
 ���
 �������
��� ��
�

�
�
�
 � 
 (2.35, 0)�(3.05, 0.25)�% ���
 ����
 � �
 	�



 ��
� �� �	��� �
�
�� ��
 ��y =
5

14
x −

47

56
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�	��� �
 	
 ���� 
����
 �� y = 0.1 �
��	
 � 
 �
 ��


��
	
 �
 ��(
�x = 2.63��
 ����10 %�
 ������� � 
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